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QUESTION 1

Decision / Branch Coverage strategy

A. Always satisfies statement coverage

B. Means that every branch direction is traversed at least once
C. Is used in black-box testing

D. Is the same as condition coverage

Correct Answer: B

QUESTION 2

Boundary Value Testing.

A. Test boundary conditions on, above, and below the edges of input and output equivalence classes.

B. Is the same as equivalence partitioning tests
C. Tests combinations of input circumstances
D. Is used in white-box testing strategy

Correct Answer: A

QUESTION 3

Quality can be separated from the controls associated with it?
A. True

B. False

Correct Answer: B

QUESTION 4
The Cost of Quality is usually the

A. Cost of Risk Assessment
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B. Cost of Rework
C. Cost of Prototyping
D. Cost of Testing

Correct Answer: A

QUESTION 5

Incremental Testing involves adding unit-tested programs to a given module or component one by one, and testing each
resultant combination. Of the two types, Top-down is often thought to be easier because drivers are often easier to
create than stubs.

A. True

B. False

Correct Answer: B
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